SX-7 Hand Held Tile Tool AR51G

od

Part # Description Qty Part # Description
A NX108 Swivel Dual Inlet 1/8" FPT Ports 1 O NM5571 Screw #10 X 3/4" PPH 88
B NMS5E45 Rotary Washer with PEM nuts 1 P NM5630 Inner Shell Assembly with Brush
C  NA033 Valve 1 Q NM5630A Seal Inner Shelf
D AH102B Quick Connect Male 1/4" Hydro Force 1 R NM5634 Vent Ring
E BR302 Compression Fitting, 1/4 x 1/4 1 S B636 Spray Jet, Vegjet 1/8" Meg 6501, Stainless
F BR305 Compression Fitting, Female, 1/4 x 1/8 1 I NM100676 Rotary Washer
G BR304 Compression Fitting, male, 1/4 x 1/8 2 U NM4478 Screw 10-32 x 3/4" SOCHD 55
H NM5649 Bent Flow Tube 55 - Back 1 V' NM4255 Washer #10 Flat S5
I NM5E648 Bent Flow Tube 55 - Front 1 W NX107 Spray Bar - SX-7 (With Plug & O-Ring)
J  NM5832 Outer Shell Assembly Right 1 X BE632 Spray Jet, Vegjet 1/8" Meg 0502, Stainless
K NM5638 Trigger Lock Spring 1 Y NMS5635L Aluminum Vac Port Left
L  NM5637 Trigger Lock Pin 1 Z NMS5635R Aluminum Vac Port Right
M NMS5636 Trigger Assembly 1 a NM5753 Screw 6-32 x 3/4" PPH 88
N NM5631 Outer Shell Assembly Left 1

m-iuh}umm-iuqqume



